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10.

11.

Instructions to Students
This Question Booklet contains 90 questions.

All questions are compulsory. Each question carries
one mark and there will be no negative marking.

Each correct answer will be awarded one mark.

Write your Eleven digit roll number as allotted to you
in the admission ticket clearly on the test booklet.

During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval
against Question No. in the OMR answer sheet
using blue/black ball point pen. Do not try to
alter the entry and not to do any stray marks
on OMR Sheet.

¢ Example:InaquestionbookletifNo.3isthe correct
answer for Question No. 20, then in the OMR
answer sheet, shade circle 3 using blue / black
ball point pen as follows.

20) @ @ . @ (This is an example only)

If more than one oval is darkened for a given
question, such answer is treated as wrong and no
marks will be given.

The Student and Room Supervisor should sign
in the OMR sheet in the space provided.

Candidate should return the answered OMR sheet
only to the Room Supervisor before leaving the
examination hall.

The calculator, mobiles and any other electronic
equipments are not allowed inside the examination
hall.

English version of the question paper will be
considered as final, in case of any dispute arising
out of variation in translation version.

Rough work can be done in the place provided in
the Question Booklet.
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Directions : (Questions 1 - 5)

Complete the following number series by
choosing the correct number from the given
choices.

2, 4, 7, 12, 21, [ ] .
1) 38

2) 36

3) 35

4) 33

3,5 9, 13, 21, [ ] .
1) 32

2) 30

3) 29

4) 25

4, 11, 30, 67, 128, [ ] .
1) 192

2) 219

3) 256

4) 344

6, 5, 10, 6, 14, [ ], [].

1) 18,8

2) 7,18
3) 10, 14
4) 14,10

122, 236, 3412, [ ], 5630.

1) 4590
2) 3510
3) 3515
4) 4520

NMMS - GMAT (K-8) P-1
2ousne : (Fw 1-5)

3RLITT TSRFCHNYOT FOOSRE BOZ OB,
02 IUNT Moamy, BednYRy, TRLFRAPA.

1. 2,4, 7, 12, 21, [ ].
1) 38
2) 36
3) 35
4) 33

2. 3,5 9, 13, 21, [ ].
1) 32
2) 30
3) 29
4) 25
3. 4, 11, 30, 67, 128, [ | .
1) 192
2) 219
3) 256
4) 344
4. 6, 5 10, 6, 14, [ ] [].
1) 18,8
2) 7,18
3) 10, 14
4) 14,10
5. 122, 236, 3412, [ ] 5630.
1) 4590
2) 3510
3) 3515

4) 4520



Directions : (Questions 6 - 8) BRWNW: (JZnsd 6 - 8)

The order of the letters that need to comein 2,00 RRFY DTATT, TRLFRLLEL FPINTY
the boxes to complete a certain pattern is: WTBeTT WITNY FRHToRS:
)

6. a[ ]d b[ Jed[ Ja[] 6. al |db[Jca[ Ja[]
1) c,a,b,d 1) c,a,b,d
2) <c,a,b,c 2) c¢c,a,b,c
3) c¢,a,cb 3) c,a,cb
4) a,a b, c 4) a,a,b,c
7. 1 Jm[ Jmn[ ]n[] 7. 1 Jm[ Jmn[ ]n[]
1) Lm,nn 1) Lm,n,n
2) m,l,nn 2) m,l,nn
3) Ln,mn 3) Lnmn
4) m,n,l,1 4) m,n,l,1
8. palJrqrp[ ][ Jpa[] 8. paldrarp[ ][ Jpal]
D 1p.p.q ) rp.p.q
2) q, ., 2) q,rn1np
3) p,qrr 3) p,qrT
4 rprq 4 rprq
9. Inthegivenserieshowmanytimesprime 9. 3pyHE Bossederdod o 87 BoLne
number appears between two odd SR O, W, HoSNT Al?
numbers?
2375913748362539 2375913748362539
1) 5 1) 5
2) 6 2) 6
3) 4 3) 4
4) 3 4) 3



10. In the given series how many times ‘3’
appears behind an odd number?

3132333435363738393

)
2)
3)
4)

8
6
5
9

Directions : (Questions 11 - 15)

Identify the wrong number in the given

series.

11.

12.

13.

24, 39, 65, 91, 104.

)
2)
3)
4)

39
24
65
104

103, 104, 107, 109, 113.

D
2)
3)

4)

113

109

104

107

20, 30, 42, 54, 72.

)
2)
3)

4)

72

20

42

54

Use E-Papers, Save Trees
Above line hide when print out

NMMS - GMAT (K-8) P-1

10. %@&gpm ﬁom@e:ﬁoﬁog 33 :1033503: 20T
AT, 3’ nh woRs?

3132333435363738393

1
2)
3)
4)

8

o n N

Reudne: : (FBnw 11 - 15)

4RYDT Berdod) STT Hosohy, I

11. 24,39, 65, 91, 104.

12.

13.

5

)
2)
3)
4)

39
24
65
104

103, 104, 107, 109, 113.

D
2)
3)

4)

113

109

104

107

20, 30, 42, 54, 72.

1
2)
3)

4)

72
20
42

54



14. 4,5, 12, 33, 160.
1) 4
2) 5
3) 33
4) 160

15. 5,11, 19, 30, 41.
1) 30
2) 19
3) 41
4) 11
Directions : (Questions 16 - 20)

Four groups of numbers / pair of numbers /
group of letters are given for each question
of which three of them are alike and one is
different. Select the different one.

16. 1) 30
2) 130
3) 350
4) 738

17. 1) ZWR
2) TQL
3) NKG

4) SPK

14. 4,5,12,33, 160.
1) 4
2) 5
3) 33
4) 160

15. 5,11,19, 30, 41.

1) 30

2) 19

3) 41

4) 11
BN ¢ (Jned 16 - 20)
33 3IYNT g@dﬁ@?g T23R0TTYCRR 5093571%
/ BReB 3093671% / @gcmf noYne T,
roPYRERY, 3R, ARYNEY SRTH 2ozt Dedck
mwozswda‘;l RBROQILIN. WwoTH TN, z‘w&mﬁd.
PIFRNTHHRY T, TSR
16. 1) 30

2) 130

3) 350

4y 738

17. 1) ZWR
2) TQL
3) NKG

4) SPK



18. 1) 8,15,19
2) 6,8,10
3 5,12,13

4) 3,4,5

19. 1) BOAT
2) BUS
3) CAR

4) VAN

20. 1) RWC

2) BGN
3) PUA
4) SXD

Directions : (Questions 21 - 24)

The following Venn diagrams show the
relationship among the three given objects.
Identify the appropriate diagram to show
the relationship.

O
8@

21. Wild animals, lions, tigers
1) a
2) e
3) ¢
4) d

NMMS - GMAT (K-8) P-1
18. 1) 8,15,19
2) 6,8,10
3) 5,12, 13

4) 3,4,5

19. 1) BOAT

2) BUS
3) CAR
4) VAN

20. 1) RWC

2) BGN
3) PUA
4) SXD

Rousne © (F e 21 - 24)

& IPNT II® WIS ggwg BREITH
TRy TRNRINTLE FOWOFRY, BRWMHIR. B3
BOWOFRT, BAWHE BOCIRT WIEW, BREILH
eoﬂﬁﬁ@od .

O

c) d) e)

21. W BN, 20T, TOND
1) a
2) e
3) ¢
4) d



22. Women, mothers, nurses
1) d
2) b
3) a
4) e
23. Husband, wife, child
1) b
2) a
3) d
4) e
24. Professors, doctors, engineers
1) b
2) ¢
3) e
4) d

Directions : (Questions 25 - 27)

Complete the given anology by selecting the
correct answer from the alternatives.

25. 583:293::488:[ |
1) 291
2) 378
3) 487
4) 581

22, SH%HBODHTHL, SVCPOATL, TRCRT
1) d
2) b
3) a
4) e
23. now, Bor, >
1) b
2) a
3) d
4) e
24. TRERTITE, F[HTo, AOLRRTND
1) b
2) ¢
3) e
4) d

ARURRS 1 (IIRB 25 -27)

BRYIT TCIRFOHNAYOT FOBRT LOITI,
302 SN ma‘%@"oﬁm& TRETRAD.

25. 583:293::488:[ ]
1) 291
2) 378
3) 487
4) 581



26. 120:145::195:[ ]
1) 170
2) 168
3) 226
4) 224

27. 8:256::[ |:108
) 9
2) 7
3) 5
4) 6
Directions : (Questions 28 - 30)

Complete the given analogy by selecting the
correct answers from the alternatives.
28. CEH : EJY :: AGD : [ |

1) CKT

2) CLU

3) CLT

4) CLV

29 VKNT :[ ]:: TPDG : 71147
1) 5161420
2) 5161320
3) 2111420
4) 5111320

30. PQR : SMW :: EFG : [ |
1) HBK
2) HBM
3) HCL
4) HBL

26.

27.

NMMS - GMAT (K-8) P-1
120 :145::195: [ |
1) 170
2) 168
3) 226
4) 224

8:256::[ |:108
1 9
2) 7
3) 5
4) 6

BRWRNW : (JJn<d 28 - 30)

é.mgpow TOSREODNLOT BOO3RT emgdmo&
302 PN mwaééoﬁmq TROIFANRDA.

28.

29.

30.

CEH :EJY :: AGD : [ ]
1) CKT
2) CLU
3) CLT
4) CLV

VKNT:[ ]:: TPDG : 71147
1) 5161420
2) 5161320
3) 2111420
4) 5111320

PQR : SMW :: EFG : [ |
1) HBK
2) HBM
3) HCL
4) HBL



Directions : (Questions 31 - 34)

In the questions given below the numbers
in the figures are related. Identify their
relationship and find the missing number.

BRWRNW : (JJned 31 -34)

33 39N 3RS g%ﬁeﬁg e:e%éﬁeécgd:aﬁ :30332571%3;
zoa.)ozswabol RO, 33 souozssm& mtha
WSNYY W, BRENTLT 30936033534 FOTWILROWD.

31. 31.
16 12
13 |29 |15 9 |21|11
14 10
2) 13 2) 13
3) 17 3) 17
4) 26 4) 26
32. 32.
1 2
5 (343) 6 (512) 3
3 5
2) 125 2) 125
4) 729 4) 729




33.

an

1) 34

2) 36

3) 39

4) 42
34.

D
2)
3)
4)

hn A~ W N

Directions : (Questions 35 - 40)

y

10

33.

n\

7

Find the missing number/letter in the given

matrices .

12
3s. 9
41

) 12
2) 18
3) 20
4y 21

23
?

28

34|
27
15

y

1)

2)

3)

4)
34.

11

)
2)
3)
4)

BRWIN : (JJned 35 - 40)

34
36
39

42

[ B S VS N\

NMMS - GMAT (K-8) P-1

&h

\

10

y

13

$RYTHT TRIIAVY By BRNDHT Tosd,/
g S, BOTERROWO.

3S.

)
2)
3)
4)

12 23
9 2

41 28
12
18

20
21

34]
27
15




36.

37.

38.

39.

)
2)
3)
4)

1)
2)
3)
4)

)
2)
3)
4)

D)
2)
3)
4)

23
36
42

11

23
27

|c~\uN|

96

45
47
46

n

100
224
280

z oz a IPR°9 4w om Q07

zc =
[* =~

QQHH

24
52

o=r

36.

37.

38.

39.

)
2)
3)
4)

D
2)
3)
4)

)
2)
3)
4)

D
2)
3)
4)

11

23
27

|c\uN|

23 45
36 47
42 46

9]

100
224
280

< % com 1907

= =]

Z O T QO

£cx
[* = <]

O P G

24
52

o=




8| A|F

40. |c|s|7

? I 2
) B
2) D
3) E
4 G

Directions : (Questions 41 - 43)

Choose and substitute the correct set of
signs in place of * sequentially selecting
from the given alternatives to make the
equations meaningful.

41. 24*9x2 %6

1) =,+,x
2) x,=+
3) =x+
4) x,+,=

42. 6+4*16*8

) x,+,=
2) = +,x
3) =+ x
4) x, =+

43. 62 * 58 * 48 * 12

) +,+,=

NMMS - GMAT (K-8) P-1

8| A| F

40. |c|5]|7

? I 2
) B
2) D
3) E
4 G

BRWIN : (TJnwd 41 - 43)

BRYTHT TRCTTLOTRY, OPETRDE TRT,
2RYTOR BT WIB O R, ¥ RAGY
BN STedTIH Q0T TOZREOBNLOT
E0A.

41. 24 %9 *2%6

1) =,+,x
2) x,=+
3) =x+
4) x,+,=

42. 6+*4*16*8

1) x,+,=
2) =+, %
3) =+ X%
4) x, =+

43. 62 = 58 * 48 * 12

) +,+,=



Directions : (Questions 44 - 45)

Find out which numbers/signs should be
interchanged to get correct equation:

44, 8+4x2-5=2

1) 8and5
2) +and=
3) 8and4
4) xand -

45. 16 +-8+4x2=10
1) + and +
2) 8 and 4
3) + and x
4) 2 and 8
46. Sonuis son of Sarika. Reeta is daughter

of Sarika. If Sarika is sister of Raju,
how is Reeta related to Raju?

1) Niece

2) Sister

3) Daughter
4) Aunt

47. A girl introduced a boy as the son of
the daughter of the father of her uncle.
The boy is related to the girl as:

1) Brother
2) Nephew
3) Uncle
4) Son

ReuRne: © (FFnes 44 - 45)

@Jaé.édow BReITOTY 030 zs%ﬁlﬁe:fb/zo&ﬁﬁrieémel
BTN WTEO IPRTTN TeWCTTD zaomndogd
ezozaacssac1 BOTDXROND:

44. 8+4x2-5=2

1) 8 &= 5
2) + @3, =
3) 8 2= 4
4) x D -

45. 16 +-8+4x2=10

1) + 08+
2) 8 ™ 4
3) + @y x
4) 2 B 8

46. BRI TOTY FN. OCR TOTY INWD.
T00T0, TOWINT RNRCTO0INTWT, Ot
TOHNR IR BoWoR?

1) Zeedd Zed

2) 3oh
3) N
4) 8T,

47. 2y BTNOkD, BTN, AR I, WLTT
JoBch Y B 208 JOBRHIVY.
SRES DD, BT CIRT HoWOT:

) BReeET
2) e

3 By

4 =0



Directions : (Questions 48 - 50)

The following questions are based on the
given intersecting figures. Each figure

represents a group:

48. Find the number of players who play

/A

NMMS - GMAT (K-8) P-1
BeuNne ¢ (Jyneh 48 - 50)

3 UNS TING AYDT GeIF wINIRY
STHOX. B %30y oD THOBRY, BIRHHI:

TR STWRTT Ned
A Kabaddi players

3B SRTIT Ned
Cricket players

g\ 7
2

[\

both cricket and kabaddi:

)
2)
3)
4)

49. Find the number of players who play

10
19
17
21

only volleyball :

D)
2)
3)
4)

50. Find the number of kabaddi players:

1))
2)
3)
4)

7
5
22
8

23
17
21
19

\ s
TS STHTWET Ned
Volleyball players

48. 3T I sw% NTTR esasﬁeéa‘oel 3T
¢383MoTT xog% aw%?

1) 10
2) 19
3) 17
4y 21

49. TS T, BRRRT 503325 DT, ?

) 7
2) 5
3) 22
4) 8

50. 3R @i SwRHT Kogd IR, ?
1) 23
2) 17
3) 21
4) 19



Directions : (Questions 51 - 54) BeuNn ¢ (Jned S1 - 54)

Identify the number of specified geometric  #$R 8rLiOT WIRYY B RLICH BTSN

shapes in the given diagram and mark the  z593 032 20003 LVITIH. HHS2.
correct answer. R ) Q

51. Find the number of squares in the 51. 338 ey B ICHOHT FINE Do,

given figure : B0TWROWO :
1) 22 1) 22
2) 26 2) 26
3) 29 3) 29
4) 30 4) 30

3SR s@%mw w%@oﬂ:gdm e:aq#r:bgmf
:10935 OB R0WO:

52. Find the number of semicircles in the 52.
given figure:

2) 24 2) 24
3 25 3) 25
4) 26

4) 26



53.

54.

5sS.

NMMS - GMAT (K-8) P-1
Find the number of triangles in the  53. 3R 2rycxm BT IOBYTT SRowne KoL,

given figure: FOR & ROND:
1) 10 1) 10
2) 12 2) 12
3) 13 3) 13
4) 14 4) 14
Find the number of parallelograms in ~ 54. #s¢R 3eyos BT 30NYTLT HFWR0ST
the given figure: BBRPFENT Boss; ForROWO:
1) 15 1) 15
2) 13 2) 13
3) 12 3) 12
4) 9
4) 9 )
Present age of Shashank and Prashanth 55 3z03 3 Zze03 axtns 8:ns SoHs
is in the ratio of 4:3. If Shashank will 4:3 3 9793898, 6 SXene Sozd
be of 26 years old after 6 years, the IT0IR ROHE 26 IRFRRES, [TOIN
present age of Prashanth is? BiNS [oHR ATy
1) 14 years ) 14 STERSD
2) 11 years 2) 1l IRERD
3) 21 years 3) 21 IREAD

4) 15 years 4) 15 IRFAD



56.

57.

58.

The sum of three different numbers is
equal to their product. Which is the
biggest number among them ?

) 2
2) 3
3) 6
4 1

A man started walking from his house
towards south, after walking 6 km he
turned to his left and walks 5 km, then
he walks further 3 km after turning
left. Again he turns left and continued
his walk to 9 km. Now how far is he
from his house?

1) Skm
2) 6km
3) 7km
4) 9 km

This year “TEACHERS DAY” is
celebrated on Thursday. On what day
will “TEACHERS DAY be celebrated
in the next year?

1) Sunday
2) Friday

3) Thursday
4) Saturday

56.

57.

S8.

DR Q0T Tos3NE DT w3y mHrovw)
2,05 BNW. TMTT VPYNSY RO B3,
O3YT?

) 2
2) 3
3) 6
4 1

2y FE BY, TIVoWwon WP, Tedtd
6 3.00¢. FNMWITYY. ToT IFY, OWE, 3TN
5 d.5%e B[RS FWATE. DI @G 3TN
3 3.oe. VBTN, T QWE 3TN 9 ..
Bed BOMWT/Y. 3N WTB F, HROWOT
AT, BRTTY VTR?

) 5 s.5e.
2) 6 $.0e.
3) 7 ..
4) 9 8.0

3B IR “égﬁd @mmd%”oﬁ:ﬁaol fqelovtvrle)
30T CRONT). WNOAT WIE “é%ﬂ%d
amwdgo&mj O30z AN esasaﬁmmgd?

1) o000
2)  DFWT
3) MTOTRT

4) 300



59. This year the “Independence Day”
is celebrated on Thursday. On what
day will the “REPUBLIC DAY” be
celebrated in the next year?

1) Saturday
2) Sunday
3) Thursday

4) Tuesday

Directions : (Questions 60 - 64)

In the following questions, a word is written
according to some code. Identify the code
of the other word given below.

60. PALM is coded as UEOO in certain
language. Then YEAR can be coded
as:

1) DHOS
2) DIST
3) DITS
4) DIDT

61. IfEARTH is coded as 41590 and PACE
is coded as 2134. Then PEACH can be
coded as:

1) 21430
2) 24103
3) 24130
4) 21403

NMMS - GMAT (K-8) P-1

59. 33 Iqe “HBOZ, DTULRTRODE,” HTHIRT

0TS, THOORT TR “NeoTAR TR T,
BT AR ERIOTSRNMIF)TH?

) 323

2)  OVWT
3)  MTmT
4)  VDONYIT

BRWIN : (IZned 60 - 64)

8 3YNT JIJNYY wom ISRy, meodeds
PORONY WICHRNT. WKe TOFeT PoROHY
BRYTT JRRET TR IR/ Q0T
TOTR & BON0.

60. PALM WY, WOTH $eRo® UEOO Qom
Toge2aws, Wit XodY YEAR e.-s?nel &en
OB SBUTDTN:

1) DHOS
2) DIST
3) DITS
4) DIDT

61. EARTH @5’4 41590 20, PACE e.—:abel
2134 oot moe2awnd, PEACH e.-vabol &%en
BT [IOTRH:

1) 21430
2) 24103
3) 24130
4) 21403



62.

63.

64.

If in certain language FORGIVE is
coded as DPPHGWC. Then REQUEST
can be coded as:

1) PFOVCTR

2) TDSTGRV

3) PFOCVUR

4) TOFCVTR

If in certain language KODAGU is
coded as NRGDJX, then TIPTUR can

be coded as:

1) WLRWYU
2) WLSWXU
3) WLSVXU
4) WMSWXU

If TAG is coded as 112, then PEN can

be coded as:

1) 130
2) 132
3) 136

4) 140

62.

63.

64.

20w eRod Igd FORGIVE o=,
DPPHGWC @0z wdwd, REQUEST
O, Wer WBHTOTR:

1) PFOVCTR
2) TDSTGRV
3) PFOCVUR

4) TOFCVTR

20w Fod I KODAGU s,
NRGDJIX qomy moseeawd, TIPTUR
@aﬁooz e WBOHTIT:

1) WLRWYU
2) WLSWXU
3) WLSVXU

4) WMSWXU

TAG o, wom Bode3n Iged 112 oo
w3wT, PEN o, wde Zoée3n 53 &en
WICHWTTN:

1) 130
2) 132
3) 136
4) 140



Directions : (Questions 65 - 69)

The following questions are based on the
figures in series. Pick from the options what
will come next.

A O &> &
o | A >

0 o lo =

9 o] @ O

1) 2)

) 2)

dhb
N\

A\
e/
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ARURHS 1 (IIHD 65 - 69)

3 3UNS IJJned wIne Zeedodhy, SFPORR.
BRLIHLT TCITCHNRYOT TR W WIHW,
SRR eIy, JeFRAP.
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Directions : (Questions 70 - 72)

In the following questions, a sheet of paper
is folded, punched and part of it is cut
(shaded region) and all these are shown
by figures. If the paper is unfolded how
does it appear? Select the answer from the
alternatives:

70.

71.

NMMS - GMAT (K-8) P-1
BRWIN : (IFRw 70 - 72)

82 $$NT TJNRYQY 2.0 FNTT TLCHTY, R
SOZRRRTLRY TR, By TIOAT NS, (6
TYT on) WIRY SRV 2ee0T. THLODI,
DRITN VT BeR PESDIT aomzss::;l BREITH
TOL), JOSREORNYOT o, SRR

o
o
[¢]
O0O0 O
OO0 O

3) 4)
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Directions : (Questions 73 - 75)

In each of the given question there is a figure
to the left of mirror indicated by lines and its
possible images are given in the right side of
the lines. Choose the correct mirror image
of the figure given in the left side.

73.

)

74.
I 9

)

. 9
o °
O, cOs

3) 4)

ARudnes ¢ (I 73 - 75)

TR TIT FTodwows FF,030¢9 Teadodd
QRPINTYT UWBT TTFR T INOWNERS,
WOFINTY SRTBUINT. IWRNTITS BT
TOC3RT TIEE TJIWOWTT, BRLITHT Ty,
Toserebneon wok, SRR

\O O IZI/

N ®) @)

2) 3) 4)

2) 3) 4)
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Directions : (Questions 76 - 79)

In the following figures, a part of the figure
is missing. Identify the missing part among
the four alternatives given:

NMMS - GMAT (K-8) P-1

2) 3) 4)

ReuRe © (FBne 76 - 79)

#Jaégsdow ess@am#e; ess@aoSo WOy yon
WTRLTTNG. VTR, Jddeom IFod R
3RO Do), TeSEOPNRYOT RSO

76.

1) 2)

3) 4)

77.
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3) 4)
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Directions : (Questions 80 - 82)

A sheet of paper as shown in the figure is
folded to form a cube. Answer the following

questions:

80. The face opposite to ‘O’ is:

)
2)
3)

4)

81. The opposite faces are:

A
11O
+
©
+
[]

1 2

3
1) 1,6
2) 1,4
3) 3,5
4) 4,2
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BRWINW : (JZned 80 - 82)

UITWYTITOZ WNTT TOFORRY, Fo@éwen
Foeg e wootmen. PR Feeothm IZnen
TOBRT LVITHR, FOW RONV:

80. ‘O’RA DT oo D:

A
1O
+ (O
D INO
) 4+
3) X
4) []

81. oz é)doc(ﬁpmcﬁ T INEL:

1) 1,6
2) 1,4
3) 3,5
4y 4,2



82. The face opposite to ‘B’ is: 82. ‘B’RA NTTTRE To8d:

A A
B B
E E
F F
1) F 1) F
2) D 2) D
3) A 3) A
4) E 4) E

83. When the below mentioned unfolded 83. #rycs T, zagwaaq 20TH a,s’m%aomﬁ

cube is completed, which of the option SRR 5 PR LOOERTLIT DO,
displays correct number on the faces ? BRI TOSRECHNVOT MHIF !
1
5 2
3 6
4
4 6 1 4

1) 2) 3) 4)



84. A dice is thrown four times and its
four positions are given below. What
number will come on the face that is
opposite to the face having 2’ on it?

6 3

5 6
4 5
13 2) 4

Directions : (Questions 85 - 88)

In the each of the given figures, there is
a relationship between first two figures.
The same relation is between the next two
figures, but one is missing. Find the missing
figure from the given alternatives.

8s.

NMMS - GMAT (K-8) P-1

84. o memm& SESERIRATIS NF0RINT
2y wms S m@ﬁﬁeéaaol SRCOTSINT.
wwoow 2° éﬁ P WN DT mammq
TO3RTOPNRPOT BOTROWD:

3)5 46

ReuRn: © (FFnes 85 - 88)

3 3R BRYDHT T3cleom wIICHY HAnv
DT esdamm TOWOTPNTI. AT BOWOG NOSTT
AT B INLITY 20Ty, ERYRNY. Eeties
TOIVETORNLOT @dﬁaol FOTH&LROWD.

D -
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Directions : (Questions 89 - 90) BeuNne ¢ (Ined 89 - 90)

In the given questio.ns, there are.ﬁgures or o 20p3 TP Sesdowd ;33&7% ROYSS wew
numbers above the line. Its water images are P Toa3.oh TOSRTE [0S BILVOWTTH
3 s 2

given below it. Find the correct water image 5 ..o = = 3ocaihnood ok =Ra.
of the figures from the given alternatives. “ ¢

8. Y 9 F 4 6 N
S S
b A6 3 + 9 N
> Y 38 E F 3 N
» A3 E e U
Y A e F rF 9 U
90.

g 4 R 1 2
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D@2 N B Jd1 3
20 NN B 14 5
Y3Q N\ Ar 2
Y N R J1 ¢
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